


[T1 [T1 M L [T1
— — ~ AN —_
(@) o
k S o X s | :
>
EAN X X X >
(0] D (@)) N —
n n ] M m
AN —i
s
pod —b X > <
-~ o N ~ N
[T1 [T1 [Tl [T [T1
89cm — —l (o O) CD
R @) N
% ﬁ § I‘Moi. Ig 190cm 220cm 388,5cm
= x g X E X 8 = g
X > X X >
oo — W N —

NOZ08




8070N

X1

X3

0 | N ™
LL] LL] LL]
(q\| ~—
X woy/ X
%ww |
oA
J—” . % ﬂQ/_u/. . ) .
L LL] LL]
> <
—
© LO (00
~— QN Q\
LL] LL] LL]




74cm

X2

74cm

X2

E33

74cm

X1

74cm

X1

74cm

X1

74cm

)x1

' £ e £
g g g 3 ¥
N Y N Y, . Y,
80cm 80cm
X1 X1
(. A
(/\@/‘ S50
£
o) ®
./
N Y,
X2 X1
E43 _ E45 |
£
| | @ |
:
80cm

X2

X3

X2




8070N

QA o
X X
] /
|
Y
@
o0 ~—
<t L0
LL] LLI
% 3 <
p
\m—
7 @ O _ woge 3 -
<t O L0
LL] LL] LL]
(Q\| qp) QA
B > >
(o) D q\| |
< < LO Aﬁlw
LL] LLI L




[Tl [Tl [Tl L [Tl
— — ~ AN —_
15cm w o
2 xoo® X e - : X :
>
S > P < 9%
(0] ~ (0)] N —_
] ] ] M M
AN —i
3& 8 Eg % ;g g & <
>
> — X > >
— (@) oY S N
[Tl [Tl [Tl [T1 [Tl
89cm — —l (o O) CD
R L ol N
% ﬁ § I‘Moi. Ig 190cm 220cm 388,5cm
. = - }g 3 ﬁ < & S ﬁ S
> > > > P s
0,9) — w AN —

40208




8070F

X1

X3

o0 | I~ (@
™ QA (qp)
LLI LL] LLI
(qQ\| ~—
>< - ><
| Qm
Mw i
O
i §
N © oL . .
— Al Al
LL] LLI LLJ
— ©
>< ><

E16

E25

E28




E33

74cm
Q0
+
N
S
74cm
74cm

X2

X1

A o) . o °, 2
. O o
° ° 0 0 o
12 o L7 s
1011 1 2 .()o ° (o] oo.
£ o o (f ° ° e
5 9 3|8 o o f(3olo|§
N ~ ° o o4 ~
8 4 e o\)g\?%O o o
7 6 5 Ooo oo ° 2)0
R . , 0 © °© 6 %6 0o,
), N—— A \- Y,
80cm X 1 80cm X 1 80cm X 1

74cm

74cm

X1

74cm

B
O o
_/
(@]
& °
= g
i
N B 990
80cm X 2
5
~
€ £
80cm
X 3 80cm X 2




8070F

E47 E48
: X2 x3 | I x2
E49 ES0 E51
- x32 X3
ES2 E53, - E54
N =
[ .
s X1 X1




8070N 8070F

Nr Element 3 2

1 i S6x60 1077 1077
2 @ - W6x60 869 869
3 - K2_d30_B 1 1

9 — ISO 7380 | M6x25 6 6
10 DIN 9021 6x18 53 53
16 @ - K1_d21_B 6 6
17 @ ; Z1_d21 B 6 6
18 DIN 985 M6 6 6
21 DIN 125 8x16 357 369
22 DIN 125 6x12 30 42
24 = ISO 7380 | M6x16 24 36
29 ; K—*"Gé%g 2_ 12 12
43 DIN 1587 M8 4 4
57 ((@ DIN 1587 M10 4 4
58 % i LOCTITE 1 1
61 H . KL105 193
84 { — ISO 7380 | M8x35 4 4




<=

8070N 8070F
Nr Element 3 2
88 @ i ALUZ RR 2 2
91 — o DIN7337 |  3x16 8 8
103 DIN9021 |  10x30 8 8
104 i ) | DIN931 | M10x85 4 4
109 DIN913 | 10x10 128 128
121 ﬂ . / 19%0_—(?:612— 4
136 T, S R e 2
146 o DIN7991 | Msx12 204 204
147 Co - M6x10 228 240
148 % - |CONET ECO 102 102
149 e@ i ALUZ SD 64 64
179 \’/ ; Z ECO_1 47 47
180 o i K_ECO_1 47 47
213 @ . Z NA 1 1 1
214 . Z NA 2 1 1




